GESAMTSCHALTBILD
COMPLETE CIRCUIT DIAGRAM
SCHEMA GENERAL

EVOX C-SERIES AUTOLOCATOR

Handling MOS components

MOS components are extremely sensitive
to static charges. Please observe therefore
the following regulations:

1.Components sensitive to static charges
are stored and shipped in protective
package. On the packages you find the
subsequent symbol.

2.Avoid any contact of connector pins with
foam packages and -foils made of styro-
por or similar chargeable package mate-
rial.

3.Don't touch the connector pins when
your wristis not grounded with a conduc-
ting wristlet.

4.Use a grounded conducting mat when wor-
king with sensitive components.

5. Never plug or unplug PCBs containing sen-
sitive components when the machine is
switched on.

Subject to change
Copyright by WILLI STUDER AG
Printed in Switzerland

WILLI STUDER AG Regensdorf

Order No. 10.30.1490 (Ed. 0190)
REVOX is a registered trade mark of

LOCATOR KEYBOARD 1.328.236.00

TO LOCATOR MP BOARD
1.328.238.20
W D1 o2 03 D4 DS D6 D7 De
Bt A
. 1-4 1N4448 1N4448 1N44as8) 1Na448) 1N4448 1N4448) 1N4448 1N4448,
A5 14 s1 (52 s3 s4 (Sﬁ {ss (57 (ss
(g D10 511 D12 013 Di4 515 D16
1N4448 1N44451 1N4448 1N4448 1N4448 1N4448 iN4448 iNAddﬁl
a4 3 {ss (sm st1 s12 {513 (su (sxs (sxs
D17 D18 D19 D20 D21 D22 D23 D24
1N4448 L 1N4448 1N4448 1N4448 1N4448 1N4448 1N4446l 1N4448
a3 ® f s17 {sm s19 sao s21 s22 (sza se4
D25 D26
1N4448 1N4448
A2 15 {525 (525
AQ &
AL 5
A2 8
A3 7
A4 10
AS e
A6 12
A7 11
2F|i +5V 293 +5V
cHa 117, | — & 2o, ]
DL1 MV57123 DLE MV54123
A2 +5v A +5V
cH 1 18 gz, ] 270 @
DL2 MvS57123 DLS MV54123
5 +5V 810 +5v
w3 gro, &
CH 4 19 — } Ll
OL3 Mv57123 DL10 MVvS4123
™ +5V A1l 45V
H 3 20 270 3 270 &
DL4 MV57123 DL11 MV57123
258 o 258° £
" )
sYN 1 l21 870, W] .
DLS Mv54123 DL12 MVS7123
RE hald R13 +5V
INP 1 122 gro 2 Bro, el
OLE Mv54123 DL13 MV57123
5 = 8
REP 2 123 o vl " el
DL7 MvS4123 DL14 MVS7123
REP 1 24
INP 2 25
SsYN 2 |26
CH & 27
CHs5 lz8
cH7 a9
cHe 130
+5V
+5V 31734 —.4
©®3.11.88 M1 |O o (@] (@]
KN | || C270 ca74 Cc278 | Pace 10F 2
STUDIER | LOCATOR KEYBOARD |sc |1.328.238.00

SPARE PARTS ERSATZTEILE PIECES DE RECHANGE

Qty...Order number...Part name.. .Specification.....

17

1

21.26.0353 < PHILLIPS HEAD SCREW M3 X5
ZYLINDERSCHRAUBE KS M3 X5
VIS CYLINDRIQUE CRUCIF.M3 X5

31.02.0211 < EQUIPHENT FOOT D.16
GERAETEFUSS D.16*
PIED D.16

54.21.1015 < PLUG DIN MAS-70
STECKER DIN MAS-70
FICHE DIN MAS-70

1.010.001.21 < OVAL HEAD SCREW M4 X10 AL BLK
LINSENSCHRAUBE M4 X10 AL BLK
VIS TETE BOMBEE M4 X10 AL BLK

1.010.025.21 < OVAL HEAD ALLEN SCREW M3 X6
LINSENSCHRAUBE IS M3 X6
VIS BOMBEE IS M3 X6
1.128.088.00 CABLE / AUTOLOCATOR
ANSCHLUSSKABEL / AUTOLOCATOR
CABLE RACCORDEMENT/AUTOLOCATOR
1.328.235.02  FRONT PANEL / AUTOLOCATOR
FRONTPLATTE / AUTOLOCATOR
PLAQUE FRONTALE / AUTOLOCATOR
1.328.235.04  SIDE PANEL
SEITENABDECKUNG
GARNITURE LATERALE

LOCATOR KEYBOARD 1.328.236.00
KEY AND LED CONFIGURATION

KEY FUNCTION LED FUNCTION
s1 CH 3 DL 4 CH 3
s2 Ch 8 DL 14 CH 8
$3 CH 2 DL 1 CH 2
S4 CH 7 DL 13 CH 7
S5 CH 1 DL 2 CH 1
S6 CH 6 DL 11 cHe6
S7 CH 4 DL 3 CH 4
$8 CH S DL 12 CH 5
S9 +f-
S10 8
s11 1
S12 5
S13 2
S14 9
S15 3
S16 6
$17 SYN 1 DL 5 SYN 1
S18 INP 1 DL 6 INP 1
S19 REP 1 DL 8 REP 1
$20 REP 2 DL 7 REP 2
s21 0
S22 INP 2 DL 9 INP 2
§23 CLR
S24 SYN 2 DL10 SYN 2
s25 4
S26 7

LOCATOR KEYBOARD 1.328.236.00

Ad ..Pos.. ...Ref.No... Description ...ccecoeccecess
D..0001  50.04.0125 1N 4448 SI
D..0026  50.04.0125 1N 4448 SI
DL.0001  50.04.2701 MV 57123 RED
DL.0002  50.04.2701 MY 57123 RED
DL.0003  50.04.2701 MV 57123 RED
DL.0004  50.04.2701 MY 57123 RED
DL.0005  50.04.2703 MY 54123 GRN
DL.0006 50.04.2703 WY 54123 GRN
DL.0007  50.04.2703 MY 54123 GRN
DL.0008  50.04.2703 MV 54123 GRN
DL.0009  50.04.2703 MY 54123 GRN
DL.0010  50.04.2703 MV 54123 GRN
DL.0011  50.04.2701 WY 57123 RED
DL.0012  50.04.2701 My 57123 RED
DL.0013  50.04.2701 My 57123 RED
DL.0014  50.04.2701 MV 57123 RED
HP.0001 1.328.236.11 LOCATOR KEYBOARD
MP.0002 1.328.236.01 LABEL
R..0001  57.11.3271 270 1%, 0207 , MF
R..0014  57.11.3271 270 1%, 0207 , MF
$..0001  55.15.0130 KEY IMPULSE
S..0026 55.15.0130 KEY IMPULSE
W..0001 1.328.239.00 34 POL. FLATCABLE

PCB



LOCATOR DISPLAY BOARD 1.328.237.00

TO LOCATOR MP BOARD
1.328.238.20

W1 F5V

D1 D2 03 D4 05 08 07 08
» 5
1N4ad8 1Naaas 1N4448 1Na448 | 1N4448 | 1N44s8 | 1N4448 1N4448
st s2 {sa {sa (SE ‘{ss s7 se
D8 D10 DIl D1z D13 Di4 D15 D16
1N4448 L 1N4448 1N4448 1N4448 1N4448 1N4448 L 1N4448 1N4448
S9 sS10 {511 {312 S13 S14 S15 S16
D17 D18 D18 D20
= N
1N44d8 | iNa448 ) 1N4448 1N4448
s17 {sm s19 s20
2

TIME

Ict
ICM7218A

MV5752

3 DL2
MV5352

COUNTER

Ic3 Ic4 Ics Ice Ic7 ICH Ics
312AHR 312AHR 312AHR 312AHR 312AHR 312AHR 312AHR
1A 1A 1A ila 1A ila ifa
13| g i3 g i3] g 13| g 13| FE1Y 13|
10 10 10 10 . 10 10 10
sl /_/ s/ / s/ / el /_/ sl /A s/ / s/ /
7 7le 7le 7le 7 e 7le 7le
s1E/ /. 55/ /’ s/ /° zc/ /. 55/ /° zc/ /. sE/ /°
iilg i;s 11l g 1515 1;Q i1 g i1
OP anooe OF snopE S 0P 4 nope P anope PP anope P anopE PP AnoDE
14 14 14 14 14 14 14
b2 03 04 05 D& o7 pe
© 3.11:88 M.J.E.[O |[@) [O |[@)
KN | | c270 C274 C278 | Pace 10F 2
STUDER| LocaTor pIseLAY BOARD "ESE" |sc | 1.328.237.00

Ad

{ K \ V]
T T T T T
1l I
a XIcA alo K _:]'
Q 9. —
S ot =7 T
-~ 4 | |
a J | !
\ N .
S ————
L] L] L]
\
\
MP5 (45x) M
LOCATOR DISPLAY BOARD A 1.328.237.00
«Pos.. ...Ref.No... Description ....cceveee.. [ T
C..0001 59.06.0104 .1u 10%, 63V , PETP MP.0001 1.328.237.11 LOCATOR DISPLAY BOARD PCB
D..0001 50.04.0125 IN 4448 SI MP.0002 1.328.235.05 OPERATIONCASE
. - " " MP.0003 1.777.100.26 1 pes SWITCHMAT 1
" " " . MP.0004 1.777.100.27 3 pcs SWITCHMAT 2
D..0020 50.04.0125 IN 4448 SI MP.0005 1.777.100.35 15 pcs KEY 3
DL.0001 50.04.2115 MV 6752 RED MP.0006 1.777.100.34 4 pcs KEY 2
DL.0002 50.04.2500 MV 5352 YEL MP.0007 1.777.100.32 1 pcs KEY 2 RED
" . . " MP.0008 1.328.237.01 LABEL
" " " " MP.0009 43.01.0108 ESE-LABEL
DL.0010 50.04.2500 MV 5352 YEL R..0001 57.11.3271 270 1%, 0207 , MF
1C.0001 50.07.0035 ICM 7218 ALJI WA " . " "
1C.0002 73.01.0131 7-SEGM.DISPLAY LED RED 7.6 MM " " " "
. " " . R..0010 57.11.3271 270 1%, 0207 , MF
" " " " W..0001 1.023.114.02 40 POL. FLATCABLE
1C.0009 73.01.0131 7-SEGM.DISPLAY LED RED 7.6 MM XIC0001 53.03.0228 112 pes SINGLE LINE

]

b

&l

ey ?‘
L |

w1

T T T— -

ola o -als

&l &

~

-]

iy —

A A A A A A A

LOCATOR DISPLAY BOARD 1.328.237.00
KEY AND LED CONFIGURATION
KEY FUNCTION LED FUNCTION
s1 FWD DL 4 FHD
s2 PLAY DL 3 PLAY
s3 LooP
54 A-Loc
55 0-Loc
56 RHD DL 5 RHD
s7 SToP DL 2 STOP
58 REC DL 1 REC
59 ROLLBACK
$10 EDIT
s11 DATE o8 DATE
s12 TIHE DL 9 TIME
$13 COUNTER DL 10 COUNTER
14 RESET
515 C-TRACK DL 6 C-TRACK
s16 CODE DL 7 CODE
s17 RECALL
518 STORE
519 Loc
520 SEARCH

TSNP 7 (red)

NP6 (45x)

P2




LOCATOR MP BOARD 1.328.238.20

if battery BA 1 (optional) is used, remove

solder bridge A

- +5V N
b
o5 2o A PUNCH IN/OUT
2764 |28 100N
e |
27 19/ . DINg
PGM 07| ~
26 la13 us:‘;—j +5V FAOM LOCATOR KEYBOARD h L N J1
2.a12 o5 1.328.236.00
4 23 [4q 0418 J pe
211,40 o3 iS5 1c10 _[20 fas P1 %
24 oo ) 97““0573 1» J rooN 1N4448
S hn [12 a0 8 18! CH 1
hald ala? ot v 85 7a[i3 171 CH 2
J P 7160 eali4 20! CH 3
RS 232 TO C270/4/8 L1 r—— > 5 :gEPROM 6lep  ogl i3 189! CH 4
100U A Sap  20/46 22! INP 1
e ~ 7135 4l3p 3047 211 SYN ¢
1c1 1 3 18 241 REP 1
P 74rco4 74rico4 c2 cs Lcs €4 548 7 oz 2150 ofs 23; ReP 2
4 Hi H Tioon o4 T i sV a1 2l 1
63403RP A0 ]
10U 1p1 1nN4a4ss Jpa 10U 4p3 1N4448 |ps o s 25]40 e f -
20,
+‘.:||4 iN4448 +ﬁ|5 1N4448 Ic2 It VCE” ;EECS73 100y CE enp Y4 } 31-34
T ! Tecr L7705 3sp £y R4 2 xraL  E |40 s 12 14 b +5v
L oy 10U 8 c10 479152 MHZ | [1n 80 &g
IﬂN 57 10U %2 veE Aok in | 3| exTaL  As [39 8170 7q42 +5v
T 2 sv 5| mesYRCsin |2 4 4l §Wi  R/W ]38 Zlsp a4
IN | 33p —g| "ML 37 & 15 __.1-41 GND
ilRer  Res |8 IRG D1 5D sa2 o6
sleg mEs |5 RS 10K 5| &ES b2 [38 5|i0 20kt o +5v
Tk — ¢ Z|STBY D3 3% 5730 3a-iZ i?&ﬁ Lcio 1N5818 .
AOK e P20 D4 3; Z 20 2042 T I1°°N 1011 |20 ce2 AL
P — [ P21 ps [3 1010, 19 o7 74HCS73 100N A0
P22 os [32 GND i 9 12 267 SYN 2
pa3 MP p7 3% EN_OQE Di2 iIN5818 80 8
) 13 25! INP 2
2| p2gs pe [30 1 T &va 70 7
3/p10 As [29 ) 1 1ce 7leo  sali4 28! CH &
— s |28 ) 6i16 |24 6lep  sali5 271 CHE& Y1
1S ps2 a0 [2Z A 21 VCC 1\ o742 v Slap  agliE 301 CH 8
16| p13  a11[26 1ce 191,50 I\os/4E J 2o saiZ 29! CH 7
17 p1a  ai2 25 4o 74HC00 227, TNos 45/ 300
11 23 14 w 2 19
J5v 18lp1s  A13 (24 A8 o 0P 19 +5v
R11 A12 19 EE - 13 y 10] COUNTER
Tok Tox P16  Al4 1a7 170342 EN OF e
BD140-10 L2 R24 20/ ps7  a15(22 —Sas INo22—— A
a2 350y 01 GND ~3.a5 N H RZ1
) 9.1 a - IN00 / v3 8% 10K
BC560 — ]
R20 A3
i = A13 r3o Sz RAM +5V e : I :; :é ; A7
R25 10K ice 7 - 7 9, A5 3
R14 D11 74Hcoo \_8& S
+| cas LI4K7 [TrR1s 1C16 og cao L G390, 150 = 17N 30, sv GND 6 e 10} A4 4
== {0U aK7 3524 INS818 68N eva 5 2] Jo 18 hg ; 5 L 7! A3 5
v 1 4 8 A2 6
1INV REF |46 R24 w, H -
> 470 ¢ 3 - 7
2] IV vee [15 i []'}Eg na7 FROM LOCATOR DISLPAY BOARD e 1ci2 l20 ca3 g 2 s AL z
i e g2 Rz2 820 1.320.237.00 J iy Y e—— 14! DaTE e N (e e
- E 2 ] K7 cs ] al 13 15! CODE €1
I—E— o o T} 10 ingaag R2? 22K o - 4 24Hcoo 4 7]28 79Ma 16! C-TRACK s T1 a8
S — P e ) 5 &
R16 cr SHUT #% vl Moggl/ ggg : S0 5 :: ie s vz
] R17 8/ gnD comp [8 cai1 40 4 18, FWD
aK7 | |R17 100/ P10 R c3 e cas, 230 4o, t 18 LAy
101/ P11 1c 100N 3 0 i :
R1g \ 2 20! sToP
Tes Loc27 3K9 a5 102/ P12 . 74Hco4 __T_ , 74Hcoo I 2 N 2 13 T H 221 REC \.
10N ca ID3/ P13 2 1 10 [
8 i 1D4/ P14 EN OE
L= ooy pie 1 FROM Lucnuzenzsmn BOARD
- - - 106/ P16 R
LM 358 R28 R29 7 PIN 7 = GND 1.328.237.00
10K 10K 107/ P1 PIN 14 = +5V J @ 1.12.89 J.M.E.[O) [@) (@] 1O
Y5 kN | I | €270 C274 c278
STUDIER| LOCATOR MP BOARD "ESE" |SC I 1.328.238.21




_—MP2

20600090009 lovo‘o o ||

. @
Wy :g.’ﬁ“@siwn

MP1{

XIC 2

XICH



LOCATOR MP BOARD

Ad

01

01

01

01

01

01

01

01

BA.0001
C..0001
C..0002
C..0002
C..0003
C..0004
C..0004
C..0005
C..0005
C..0006
C..0006
C..0007
C..0007
C..0008
C..0009
C..0010
C..0011
C..0012
C..0013
C..0014
C..0014
C..0015
C..0016
C..0017
C..0018
C..0018
C..0019
C..0020
C..0021
C..0022
C..0023
C..0024
C..0025
C..0026
C..0026
C..0027
C..0028
C..0029
C..0030
C..0031
D..0001
D..0002

sooRefNocoo

89.01.0275
59.06.0473
69.22.8100
69.22.6100
59.06.0104
§9.22.8100
§9.22.6100
59.22.8100
59.22.6100
59.22.8100
59.22.6100
59.22.8100
59.22.6100
§9.06.0104
59.34.2330
59.34.2330
59.22.8229
69.06.0104
69.06.0104
59.22.8100
69.22.6100
69.06.0104
59.06.0104
69.06.0104
69.22.8100
§9.22.6100
59.06.0104
59.06.0104
59.06.0104
59.06.0104
59.06.0104
59.06.0104
59.06.0104
§9.22.8100
59.22.6100
59.06.0103
59.06.0223
59.06.0683
59.22.6471
59.06.0683

.04.0125

Description

.047 v

10U
0V
.1u
10U
10UV
ou
10U
ou
10U
ou

—
(=
<=

. [y w w

. o b s e . o .
© O bt bt bt 1t bt s O O 2 5 O O = N W W e

[y
CCccCccCcccccacccccacccacacCcvUvva

—

28s
g82
cCcc

470 U

.068 U

©000000000sccc0s00sscsesnsssss

10%, 63V , PETP
-20%, 63V , EL
-20%, 35V , EL
10%, 63V , PETP
-20%, 63V , EL
-20%, 35Y , EL
-20%, 63V , EL
-20%, 35V, EL
-20%, 63V , EL
-20%, 35V , EL
-20%, 63V, EL
-20%, 35V , EL

10%, 63V , PETP

5%, N150 , CER

5%, N150 , CER
-20%, 63V , EL

10%, 63V , PETP

10%, 63V , PETP
-20%, 63V , EL
-20%, 35V , EL

10%, 63V , PETP

10%, 63V , PETP

10%, 63V , PETP
-20%, 63V , EL
-20%, 35V , EL

10%, 63V , PETP

105, 63V , PETP

10%, 63V , PETP

105, 63V , PETP

10%, 63V , PETP

10%, 63V , PETP

10%, 63V , PETP
-20%, 63V , EL
-20%, 35V , EL

10%, 63V , PETP

10%, 63V , PETP

10%, 63V , PETP
-20%, 40V , EL

10%, 63V , PETP
1N 4448 SI
1N 4448 SI
IN 4448 SI
1N 4448 SI
1N 4448 SI
1N 5818
1N 5818
1N 4448 N
1N 5818
1N 4448 N
5%, 0.5W, z
5%, 0.5, z
74 HC 04
TL 7705 ACP
RC 4559 NB, UPC 4559
HD 63 A 03 RP
74 HC 573
74 HC 00
74 LS 138

»A 1.328.238.20

OPTION 3.6V

SL-350 T LITHIUM

>»» > >

g

HHHH

gggs

R..0014

R..0022
R..0023
R..0024
R..0025
R..0026
R..0027
R..0028
R..0029
R..0030
RZ.0001
X1€0001
X1C0002
Y..0001

—

—

—

—

50.14.0107

.328.234.20

50.17.1573
50.17.1573
50.17.1573

.328.238.11

50.20.3003

.328.238.01

43.01.0108

.101.001.20

54.14.2007
54.14.2004
50.03.0340
50.03.0452
50.03.0496
67.11.3331
§7.11.3103
57.11.3103
67.11.3108
57.11.3103
§7.11.3103
§7.11.3103
§7.11.3103
57.11.3682
§7.11.3331
57.11.3103
67.11.3103
67.11.3103
57.11.3472
57.11.3472
§7.11.3472
§7.11.3472
§7.11.3122
§7.11.3392
§7.11.3270
§7.11.3471
67.11.3472
§7.11.3223
§7.56.2100
67.11.3181
§7.11.3182
57.11.3821
§7.11.3103
§7.11.3103
§7.11.3103
67.88.4103
63.03.0172
§3.03.0173
89.01.0560

01 15.03.89 Value adjust

RARRXRRXE XX

RARRRRXRKXR XX

HM 6116 LP-4,MSM 5128-15,A

EPROM

74 HC 573

74 HC 573

74 HC 573

74 HC 541

74 HC 573

M 358 N ,0PAMP
1P 3524 BN
PRINT DIN
10%, RAD., RM §
2 A, FILTER

LOCATOR MP BOARD PCB

HEAT-SINK
LABEL
ESE-LABEL
LABEL

PLUG , SN, STRAIGHT
PLUG , SN, STRAIGHT

BC 337-25

BD 140-10

BC 560
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , WF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1% 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
5%, 3 W
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF
1%, 0207 , MF

1C-SOCKET

1C-SOCKET

4.9152 MHZ





